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Ostwald colours (o), YW=100
max (m) chromatic value, D65
in the chromaticity diagram (x, y)
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BE361−2A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D65
chroma (A*0, B*0)

−40      40

A0

−40

 

 

 

40
B0

Xw=95,04, Yw=100,00, Zw=108,89
xw=0,3127 yw=0,3290
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = D65

58

65

9378 41

34

21

BE361−3A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D65
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=95,04, Yw=100,00, Zw=108,89
xw=0,3127 yw=0,3290
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = D65

58

65

9378 41

34

21

BE361−4A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D65
chroma (A*2, B*2)

−40      40

A2

−40

 

 

 

40
B2

Xw=95,04, Yw=100,00, Zw=108,89
xw=0,3127 yw=0,3290
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = D65

58

65
9378 41

34

6

21

BE361−5A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D65
chroma (A*3, B*3)

−40      40

A3

−40

 

 

 

40
B3

Xw=95,04, Yw=100,00, Zw=108,89
xw=0,3127 yw=0,3290
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = D65

58

65

9378 41

34

21

BE361−6A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D65
chroma (A*4, B*4)
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A4
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40
B4

Xw=95,04, Yw=100,00, Zw=108,89
xw=0,3127 yw=0,3290
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = D65

58

65
9378 41

34

6

21

BE361−7A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D65
chroma (A*5, B*5)
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A5
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40
B5

Xw=95,04, Yw=100,00, Zw=108,89
xw=0,3127 yw=0,3290
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = D65

58

65

9378 41

34

21

BE361−8A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D65
chroma (A*6, B*6)
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A6
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Xw=95,04, Yw=100,00, Zw=108,89
xw=0,3127 yw=0,3290
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = D65

58

65

9378 41

34

21



BE361−1A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D50
in the chromaticity diagram (x, y)

0,0 0,2 0,4 0,6 0,8 1,0
0,0

0,2

0,4

0,6

0,8

x

y

CIE 1931

400
450

475

490

495

500

505

510

515
520

525

550

575

600

625
700

495c,E
500c,E

510c,E
525c,E

550c,E
565c,E

TSSm
Be

Mλ=Sλ

V’
Vλ=Sλ

Ge

Yλ=Bλ

Mm

Vm
Lm

Ye

Re

PL

DM

D5057

63 88
80

42

36

11
19

BE361−2A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D50
chroma (A*0, B*0)

−40      40

A0

−40

 

 

 

40
B0

Xw=96,42, Yw=100,00, Zw=82,49
xw=0,3457 yw=0,3585
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = D50

57

63
88 80 42

36

11

19

BE361−3A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D50
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=96,42, Yw=100,00, Zw=82,49
xw=0,3457 yw=0,3585
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = D50

57

63
88 80 42

36

11

19

BE361−4A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D50
chroma (A*2, B*2)

−40      40

A2

−40

 

 

 

40
B2

Xw=96,42, Yw=100,00, Zw=82,49
xw=0,3457 yw=0,3585
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = D50 57

63
88 80 42

36

11
19

BE361−5A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D50
chroma (A*3, B*3)
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A3

−40

 

 

 

40
B3

Xw=96,42, Yw=100,00, Zw=82,49
xw=0,3457 yw=0,3585
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = D50

57

63
88 80 42

36
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BE361−6A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D50
chroma (A*4, B*4)
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A4
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40
B4

Xw=96,42, Yw=100,00, Zw=82,49
xw=0,3457 yw=0,3585
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = D50 57

63
88 80 42

36

11
19

BE361−7A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D50
chroma (A*5, B*5)
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−40

 

 

 

40
B5

Xw=96,42, Yw=100,00, Zw=82,49
xw=0,3457 yw=0,3585
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = D50

57

63
88 80 42

36

1119

BE361−8A_1

Ostwald colours (o), YW=100
max (m) chromatic value, D50
chroma (A*6, B*6)

−40      40

A6

−40

 

 

 

40
B6

Xw=96,42, Yw=100,00, Zw=82,49
xw=0,3457 yw=0,3585
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = D50

57

63
88 80 42
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1119



BE361−1A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P40
in the chromaticity diagram (x, y)
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BE361−2A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P40
chroma (A*0, B*0)

−40      40

A0

−40

 

 

 

40
B0

Xw=100,93, Yw=100,00, Zw=64,68
xw=0,3799 yw=0,3764
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = P40
56
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BE361−3A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P40
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=100,93, Yw=100,00, Zw=64,68
xw=0,3799 yw=0,3764
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = P40

56

60
78 83 43

39

21
16

BE361−4A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P40
chroma (A*2, B*2)

−40      40

A2

−40

 

 

 

40
B2

Xw=100,93, Yw=100,00, Zw=64,68
xw=0,3799 yw=0,3764
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P40 56

60
78 83 43

39

2116

BE361−5A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P40
chroma (A*3, B*3)
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A3

−40

 

 

 

40
B3

Xw=100,93, Yw=100,00, Zw=64,68
xw=0,3799 yw=0,3764
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P40

56

60
78 83 43

39

21

16

BE361−6A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P40
chroma (A*4, B*4)
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A4

−40

 

 

 

40
B4

Xw=100,93, Yw=100,00, Zw=64,68
xw=0,3799 yw=0,3764
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P40 56

60
78 83 43

39

2116

BE361−7A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P40
chroma (A*5, B*5)
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B5

Xw=100,93, Yw=100,00, Zw=64,68
xw=0,3799 yw=0,3764
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P40

56

60
78 83 43

39

21

16

BE361−8A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P40
chroma (A*6, B*6)
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B6

Xw=100,93, Yw=100,00, Zw=64,68
xw=0,3799 yw=0,3764
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P40

56

60
78 83 43

39

21

16



BE361−1A_1

Ostwald colours (o), YW=100
max (m) chromatic value, A00
in the chromaticity diagram (x, y)
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BE361−2A_1

Ostwald colours (o), YW=100
max (m) chromatic value, A00
chroma (A*0, B*0)

−40      40

A0
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B0

Xw=109,84, Yw=99,99, Zw=35,58
xw=0,4475 yw=0,4074
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = A00
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BE361−3A_1

Ostwald colours (o), YW=100
max (m) chromatic value, A00
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=109,84, Yw=99,99, Zw=35,58
xw=0,4475 yw=0,4074
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = A00

54
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BE361−4A_1

Ostwald colours (o), YW=100
max (m) chromatic value, A00
chroma (A*2, B*2)
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−40
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B2

Xw=109,84, Yw=99,99, Zw=35,58
xw=0,4475 yw=0,4074
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = A00 54

56
65 87 45
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BE361−5A_1

Ostwald colours (o), YW=100
max (m) chromatic value, A00
chroma (A*3, B*3)
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40
B3

Xw=109,84, Yw=99,99, Zw=35,58
xw=0,4475 yw=0,4074
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = A00

54

56
65

87 45

43
34

12

BE361−6A_1

Ostwald colours (o), YW=100
max (m) chromatic value, A00
chroma (A*4, B*4)
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B4

Xw=109,84, Yw=99,99, Zw=35,58
xw=0,4475 yw=0,4074
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = A00 54

56
65 87 45

43
3412

BE361−7A_1

Ostwald colours (o), YW=100
max (m) chromatic value, A00
chroma (A*5, B*5)
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B5

Xw=109,84, Yw=99,99, Zw=35,58
xw=0,4475 yw=0,4074
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = A00
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BE361−8A_1

Ostwald colours (o), YW=100
max (m) chromatic value, A00
chroma (A*6, B*6)
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Xw=109,84, Yw=99,99, Zw=35,58
xw=0,4475 yw=0,4074
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = A00

54
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BE361−1A_1

Ostwald colours (o), YW=100
max (m) chromatic value, E00
in the chromaticity diagram (x, y)
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BE361−2A_1

Ostwald colours (o), YW=100
max (m) chromatic value, E00
chroma (A*0, B*0)
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Xw=100,00, Yw=100,00, Zw=100,00
xw=0,3333 yw=0,3333
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = E00
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9580 42

35

19

BE361−3A_1

Ostwald colours (o), YW=100
max (m) chromatic value, E00
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=100,00, Yw=100,00, Zw=100,00
xw=0,3333 yw=0,3333
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = E00

57

64

9580 42

35

19

BE361−4A_1

Ostwald colours (o), YW=100
max (m) chromatic value, E00
chroma (A*2, B*2)

−40      40

A2

−40

 

 

 

40
B2

Xw=100,00, Yw=100,00, Zw=100,00
xw=0,3333 yw=0,3333
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = E00

57

64
9580 42

35

4

19

BE361−5A_1

Ostwald colours (o), YW=100
max (m) chromatic value, E00
chroma (A*3, B*3)

−40      40

A3

−40

 

 

 

40
B3

Xw=100,00, Yw=100,00, Zw=100,00
xw=0,3333 yw=0,3333
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = E00

57

64

9580 42

35

19

BE361−6A_1

Ostwald colours (o), YW=100
max (m) chromatic value, E00
chroma (A*4, B*4)

−40      40

A4

−40

 

 

 

40
B4

Xw=100,00, Yw=100,00, Zw=100,00
xw=0,3333 yw=0,3333
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = E00

57

64
9580 42

35

4

19

BE361−7A_1

Ostwald colours (o), YW=100
max (m) chromatic value, E00
chroma (A*5, B*5)

−40      40

A5

−40

 

 

 

40
B5

Xw=100,00, Yw=100,00, Zw=100,00
xw=0,3333 yw=0,3333
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = E00

57

64

9580 42

35

19

BE361−8A_1

Ostwald colours (o), YW=100
max (m) chromatic value, E00
chroma (A*6, B*6)

−40      40

A6

−40

 

 

 

40
B6

Xw=100,00, Yw=100,00, Zw=100,00
xw=0,3333 yw=0,3333
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = E00

57

64

9580 42

35

19



BE361−1A_1

Ostwald colours (o), YW=100
max (m) chromatic value, C00
in the chromaticity diagram (x, y)
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BE361−2A_1

Ostwald colours (o), YW=100
max (m) chromatic value, C00
chroma (A*0, B*0)

−40      40

A0

−40

 

 

 

40
B0

Xw=98,07, Yw=100,00, Zw=118,22
xw=0,3100 yw=0,3161
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = C00

57

65

9378 42

34

21

BE361−3A_1

Ostwald colours (o), YW=100
max (m) chromatic value, C00
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=98,07, Yw=100,00, Zw=118,22
xw=0,3100 yw=0,3161
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = C00

57

65

9378 42

34

21

BE361−4A_1

Ostwald colours (o), YW=100
max (m) chromatic value, C00
chroma (A*2, B*2)

−40      40

A2

−40

 

 

 

40
B2

Xw=98,07, Yw=100,00, Zw=118,22
xw=0,3100 yw=0,3161
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = C00

57

65
9378 42

34

6

21

BE361−5A_1

Ostwald colours (o), YW=100
max (m) chromatic value, C00
chroma (A*3, B*3)

−40      40

A3

−40

 

 

 

40
B3

Xw=98,07, Yw=100,00, Zw=118,22
xw=0,3100 yw=0,3161
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = C00

57

65

9378 42

34

21

BE361−6A_1

Ostwald colours (o), YW=100
max (m) chromatic value, C00
chroma (A*4, B*4)

−40      40

A4

−40

 

 

 

40
B4

Xw=98,07, Yw=100,00, Zw=118,22
xw=0,3100 yw=0,3161
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = C00

57

65
9378 42

34

6

21

BE361−7A_1

Ostwald colours (o), YW=100
max (m) chromatic value, C00
chroma (A*5, B*5)

−40      40

A5

−40

 

 

 

40
B5

Xw=98,07, Yw=100,00, Zw=118,22
xw=0,3100 yw=0,3161
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = C00

57

65

9378 42

34

21

BE361−8A_1

Ostwald colours (o), YW=100
max (m) chromatic value, C00
chroma (A*6, B*6)

−40      40

A6

−40

 

 

 

40
B6

Xw=98,07, Yw=100,00, Zw=118,22
xw=0,3100 yw=0,3161
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = C00

57

65

9378 42

34

21



BE361−1A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P00
in the chromaticity diagram (x, y)
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BE361−2A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P00
chroma (A*0, B*0)

−40      40

A0

−40

 

 

 

40
B0

Xw=102,06, Yw=100,00, Zw=81,06
xw=0,3604 yw=0,3531
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = P00

56

61
89 82 43

38

10

17

BE361−3A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P00
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=102,06, Yw=100,00, Zw=81,06
xw=0,3604 yw=0,3531
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = P00

56

61
89 82 43

38

10

17

BE361−4A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P00
chroma (A*2, B*2)

−40      40

A2

−40

 

 

 

40
B2

Xw=102,06, Yw=100,00, Zw=81,06
xw=0,3604 yw=0,3531
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P00 56

61
89 82 43

38

10

17

BE361−5A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P00
chroma (A*3, B*3)

−40      40

A3

−40

 

 

 

40
B3

Xw=102,06, Yw=100,00, Zw=81,06
xw=0,3604 yw=0,3531
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P00

56

61
89 82 43

38

10
17

BE361−6A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P00
chroma (A*4, B*4)

−40      40

A4

−40

 

 

 

40
B4

Xw=102,06, Yw=100,00, Zw=81,06
xw=0,3604 yw=0,3531
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P00 56

61
89 82 43

38

10

17

BE361−7A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P00
chroma (A*5, B*5)

−40      40

A5

−40

 

 

 

40
B5

Xw=102,06, Yw=100,00, Zw=81,06
xw=0,3604 yw=0,3531
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P00

56

61
89 82 43

38

10
17

BE361−8A_1

Ostwald colours (o), YW=100
max (m) chromatic value, P00
chroma (A*6, B*6)

−40      40

A6

−40

 

 

 

40
B6

Xw=102,06, Yw=100,00, Zw=81,06
xw=0,3604 yw=0,3531
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P00

56

61
89 82 43

38

10
17



BE361−1A_1

Ostwald colours (o), YW=100
max (m) chromatic value, Q00
in the chromaticity diagram (x, y)
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BE361−2A_1

Ostwald colours (o), YW=100
max (m) chromatic value, Q00
chroma (A*0, B*0)

−40      40

A0

−40

 

 

 

40
B0

Xw=97,93, Yw=100,00, Zw=118,95
xw=0,3090 yw=0,3155
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = Q00

57

66

9381
42

33

18

BE361−3A_1

Ostwald colours (o), YW=100
max (m) chromatic value, Q00
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=97,93, Yw=100,00, Zw=118,95
xw=0,3090 yw=0,3155
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = Q00

57

66

9381
42

33

18

BE361−4A_1

Ostwald colours (o), YW=100
max (m) chromatic value, Q00
chroma (A*2, B*2)

−40      40

A2

−40

 

 

 

40
B2

Xw=97,93, Yw=100,00, Zw=118,95
xw=0,3090 yw=0,3155
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = Q00

57

66
9381 42

33

6

18

BE361−5A_1

Ostwald colours (o), YW=100
max (m) chromatic value, Q00
chroma (A*3, B*3)

−40      40

A3

−40

 

 

 

40
B3

Xw=97,93, Yw=100,00, Zw=118,95
xw=0,3090 yw=0,3155
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = Q00

57

66

9381 42

33

18

BE361−6A_1

Ostwald colours (o), YW=100
max (m) chromatic value, Q00
chroma (A*4, B*4)

−40      40

A4

−40

 

 

 

40
B4

Xw=97,93, Yw=100,00, Zw=118,95
xw=0,3090 yw=0,3155
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = Q00

57

66
9381 42

33

6

18

BE361−7A_1

Ostwald colours (o), YW=100
max (m) chromatic value, Q00
chroma (A*5, B*5)

−40      40

A5

−40

 

 

 

40
B5

Xw=97,93, Yw=100,00, Zw=118,95
xw=0,3090 yw=0,3155
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = Q00

57

66

9381 42

33

18

BE361−8A_1

Ostwald colours (o), YW=100
max (m) chromatic value, Q00
chroma (A*6, B*6)

−40      40

A6
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40
B6

Xw=97,93, Yw=100,00, Zw=118,95
xw=0,3090 yw=0,3155
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = Q00

57

66

9381 42

33
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